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Show your work! Please draw a around your answers!

1. (9x5pts) Compute the following limits. Do NOT use L'Hospital Rulc!
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2. (9x5pts) Calculate the following derivatives.
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3. (15pts) Find the equation of the tangent to the curve a%y — xy + ay? = 1 — 2 — y at (1.-1).
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4.(15 pts) Find the alsolute maximum and absolute minimum values of f () = cos 2242 cos x+1
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5. (15pts) While car A is coming from the east, car B is going to the north. When car A is
80 km away and car B 60 km away from the origin the distance between them isfp’x%rcasing by
the rate of 14 km/h. However. at that moment the arca of the triangle AOB is not changing.
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6. (4+4+4+6+6+6=30 pts) Let f(x) = vt . By following these steps sketch the graph of

x?—1
flx).
(a) Find the domain, x-intercepts and y-intercept of f(x).
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(b) Find ALL of the asvmptotes of f(x). "
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(c) Check the symmetry and periodicity.
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(d) Find the intervals of increase/decrease and local max/min points of f(r).
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(f) Sketch the graph of f(x).
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